HMANIE BT 4
D EIENAE / 5 &R

o &8

EH 22120.

EmiEiR

ZREIRE AR =B
EBEFREENERBR

ME

EN-
- YIRS, RE
« TH@SH 1.4305

EEH T
I 3[4
o THESH 1.4305, R

fxE
- BRRAMKRESE 1.4404

BBE
< BREEH , BE , EXFEN

R1E

FEREE S BB 180° , B FHESMEILEE
EEMBER (WEHETFTEEH).

EZEA

EEER

RIEXAERBE,

EZEMm

« XEE, AR EREN s BIEME  BiE
- EUHE, BRARS RGNS EE M
« R, BARD BRSNS BIEVE

5]
ly
- ls ds
__N
1 N X ) ‘ notched catch
f - plastic grip
M — i
— ) -
/! =
gl
° = Il i
= ®
-—[ d lock nut
L 1 22120.0115 — 0120 (steel)
22120.0515 — .0520 (stainless steel)
dz picture 1 picture 2
HES &)
R BEEE" s [
d, d ds Iy Iy I3 Iy ls F4 F, min max.
-0,02 ~ ~
-0,04
[mm] [N] [°C] [a]
BFEEBHE - 85 1, HIL
4 M10 x 1 10 37,5 6 19 21 - 7,0 20,0 - 250 17 22120.0302
5 M10 x 1 10 37,5 6 19 21 - 7,0 20,0 - 250 18 22120.0304
6 M10 x 1 10 37,5 6 19 21 - 7,0 20,0 - 250 18 22120.0306
5 M12x 1,5 12 47,0 8 26 26 - 8,5 19,5 - 250 29 22120.0313
6 M12x 1,5 12 47,0 8 26 26 - 8,5 19,5 - 250 29 22120.0314
6 M16 x 1,5 16 56,0 10 30 32 - 11,5 30,5 - 250 75 22120.0316
8 M12x 1,5 12 47,0 8 26 26 - 8,5 19,5 - 250 30 22120.0315
8 M16 x 1,5 16 56,0 10 30 32 - 11,5 30,5 - 250 61 22120.0317
8 M20 x 1,5 20 69,0 12 36 37 - 21,0 57,5 - 250 121 22120.0318
10 M16 x 1,5 16 56,0 10 30 32 - 11,5 30,5 - 250 64 22120.0319
10 M20 x 1,5 20 69,0 12 36 37 - 21,0 57,5 - 250 128 22120.0320
12 M20 x 1,5 20 69,0 12 36 37 - 21,0 57,5 - 250 127 22120.0322
Vet e
WHALDER o

FIE7E: 12.10.2023


http://halder.com/tw/22120.0302
http://halder.com/tw/22120.0304
http://halder.com/tw/22120.0306
http://halder.com/tw/22120.0313
http://halder.com/tw/22120.0314
http://halder.com/tw/22120.0316
http://halder.com/tw/22120.0315
http://halder.com/tw/22120.0317
http://halder.com/tw/22120.0318
http://halder.com/tw/22120.0319
http://halder.com/tw/22120.0320
http://halder.com/tw/22120.0322

HMANIE BT 4

DEIEMAE / 2 EIRe
R+ EEHE" s [ MR
dq d, ds Iy I, I3 Iy ls F F, min max.
0,02 ~ ~
-0,04
[mm] [N] [°C] [q]
EFEEBHE - M 1, THE
4 M10 x 1 10 37,5 6 19 21 - 7.0 20,0 - 250 17 22120.0308
5 M10 x 1 10 37,5 6 19 21 - 7,0 20,0 - 250 18 22120.0310
6 M10 x 1 10 37,5 6 19 21 - 7,0 20,0 - 250 18 22120.0312
5 M12x 1,5 12 47,0 8 26 26 - 8,5 19,5 - 250 29 22120.0323
6 M12x 1,5 12 47,0 8 26 26 - 8,5 19,5 - 250 29 22120.0324
6 M16 x 1,5 16 56,0 10 30 32 - 11,5 30,5 - 250 75 22120.0326
8 M12x 1,5 12 47,0 8 26 26 - 8,5 19,5 - 250 30 22120.0325
8 M16 x 1,5 16 56,0 10 30 32 - 11,5 30,5 - 250 61 22120.0327
8 M20 x 1,5 20 69,0 12 36 37 - 21,0 57,5 - 250 121 22120.0328
10 M16 x 1,5 16 56,0 10 30 32 - 11,5 30,5 - 250 64 22120.0329
10 M20 x 1,5 20 69,0 12 36 37 - 21,0 57,5 - 250 128 22120.0330
12 M20 x 1,5 20 69,0 12 36 37 - 21,0 57,5 - 250 127 22120.0332
BFELBHE - 85 2, ZHIYIE
5 M12x 1,5 12 47,0 8 26 - 32 8,5 19,5 -30 80 30 22120.0353
6 M12x 1,5 12 47,0 8 26 - 32 8,5 19,5 -30 80 30 22120.0354
6 M16 x 1,5 16 56,0 10 30 - 42 11,5 30,5 -30 80 61 22120.0356
8 M12x 1,5 12 47,0 8 26 - 32 8,5 19,5 -30 80 32 22120.0355
8 M16 x 1,5 16 56,0 10 30 - 42 11,5 30,5 -30 80 63 22120.0357
8 M20 x 1,5 20 69,0 12 36 - 52 21,0 57,5 -30 80 124 22120.0358
10 M16 x 1,5 16 56,0 10 30 - 42 11,5 30,5 -30 80 66 22120.0359
10 M20 x 1,5 20 69,0 12 36 - 52 21,0 57,5 -30 80 128 22120.0360
12 M20 x 1,5 20 69,0 12 36 - 52 21,0 57,5 -30 80 131 22120.0362
BFELBHE - HH 2, THE
5 M12x 1,5 12 47,0 8 26 - 32 8,5 19,5 -30 80 30 22120.0363
6 M12x 1,5 12 47,0 8 26 - 32 8,5 19,5 -30 80 30 22120.0364
6 M16 x 1,5 16 56,0 10 30 - 42 11,5 30,5 -30 80 61 22120.0366
8 M12x 1,5 12 47,0 8 26 - 32 8,5 19,5 -30 80 32 22120.0365
8 M16 x 1,5 16 56,0 10 30 - 42 11,5 30,5 -30 80 63 22120.0367
8 M20 x 1,5 20 69,0 12 36 - 52 21,0 57,5 -30 80 124 22120.0368
10 M16 x 1,5 16 56,0 10 30 - 42 11,5 30,5 -30 80 66 22120.0369
10 M20 x 1,5 20 69,0 12 36 - 52 21,0 57,5 -30 80 128 22120.0370
12 M20 x 1,5 20 69,0 12 36 - 52 21,0 57,5 -30 80 131 22120.0372
Vet e
[k
R WFR [ 1 MR
dp
[mm] [mm] (<]
$HERI2RF ISO 8675 (DIN 439),
M10 x 1 16 52 22120.0115
M12x 1,5 18 75 22120.0116
M16 x 1,5 24 15,0 22120.0118
M20 x 1,5 30 32,0 22120.0120
$ERIRRF 1SO 8675 (DIN 439), 7854
M10 x 1 16 52 22120.0515
M12x 1,5 18 7.5 22120.0516
M16 x 1,5 24 15,0 22120.0518
M20 x 1,5 30 32,0 22120.0520

LS

ERHENARES  BREFENES.

HE2m2
EEHALDER FIE7E: 12.10.2023


http://halder.com/tw/22120.0308
http://halder.com/tw/22120.0310
http://halder.com/tw/22120.0312
http://halder.com/tw/22120.0323
http://halder.com/tw/22120.0324
http://halder.com/tw/22120.0326
http://halder.com/tw/22120.0325
http://halder.com/tw/22120.0327
http://halder.com/tw/22120.0328
http://halder.com/tw/22120.0329
http://halder.com/tw/22120.0330
http://halder.com/tw/22120.0332
http://halder.com/tw/22120.0353
http://halder.com/tw/22120.0354
http://halder.com/tw/22120.0356
http://halder.com/tw/22120.0355
http://halder.com/tw/22120.0357
http://halder.com/tw/22120.0358
http://halder.com/tw/22120.0359
http://halder.com/tw/22120.0360
http://halder.com/tw/22120.0362
http://halder.com/tw/22120.0363
http://halder.com/tw/22120.0364
http://halder.com/tw/22120.0366
http://halder.com/tw/22120.0365
http://halder.com/tw/22120.0367
http://halder.com/tw/22120.0368
http://halder.com/tw/22120.0369
http://halder.com/tw/22120.0370
http://halder.com/tw/22120.0372
http://halder.com/tw/22120.0115
http://halder.com/tw/22120.0116
http://halder.com/tw/22120.0118
http://halder.com/tw/22120.0120
http://halder.com/tw/22120.0515
http://halder.com/tw/22120.0516
http://halder.com/tw/22120.0518
http://halder.com/tw/22120.0520

